—
—

o

| |
A-Ad

IMOT\=

-

E

Ad—Ad

10080 0.0
e s e

48444

Ml %8 % >%X1%Hmit



*FRE]RHE(—)

¥ 4 3 &
EL B L

M

SA W2 H X% HER



BB ERS B (CP) 8iR

KEFFEEHRE. B 1M/ BLER. 2 . —BR
&M /RE T K2 H R, 2009.8
ISBN 978 - 7 - 5603 — 2753 - 2

I.K 0.5 [.795-REHE-RSER-#
# IN.H319.4

rh E R A B 518 CIP BB %5 (2009) 55 139230 B

RUFE IEBE
HERE FE&
HERT XkEK
HBREFT FAREI I KF AR
3 i RRETTRERXEENES 105 B4 150006
K 0451 - 86414749
Ht  hitp: //hitpress. hit. edu. cn
Bl FRBMEERT
A 787mmx 102mm 1/16 EM3K 16 F¥ 382 TF
R 20084E8ASE IR 20094E 8 A% 2 IR
2009 £F 8 A 55 2 WERRY
S ISBN978-7-5603-2753-2
#t  96.00 JT(FEPUAE)

H# FHHIZ 3w

(nEEpde R B R v R, RAL A HAR)



==

B B

FIEMRERRRERIBFETTWEPZE, BREREIIF EEMARB LR FRR
BERNES KT, A IGE FEEFASREI MEEEGRMEPZAE, B 5% MR
BEEENTF, AR ERRE" MRS, FR(REFREREHBINRE R
FRRE—EE: RIMAEEEHE BRNER, REEEFH TN B ¥ EF, RNA X
oA REFEEN AR THRE Y, KN EEE JEJUER REEHRBR
eGSR TICE, SR KBS ARE P GBI, AR EL2R F
B —RBUPH.LRIT. 2BREHRAR, EFHE, AEFH, BHRIER, BE7 | FiEE
EBRE, B RO IR R IEIE R AR, W R S IE,

FRR L E R RER)T— 2 M h RN E RN ER TR, FEHES—M
B RIS — R REE 500 W AR, REF R AFERTE 1 200 WAL B=MEN
4398, SCEESE BE K, SR B AT R, B EEER A I B 7E 550 ~ 600 18] 2 H] , HR K R HE A
1 5001 %A% .

BEMXUERTS. BEREFENSLAR, TEBERURESFSEABIN
—ANHBRERSY . FRRCKFIGER BB EH R RENIGEEE , 2 IXEHM,
AT AR B 24 WIE R S, B i A St = SR REICL, MEEE X HEE
AW T %o

FRRCRE B R BREE)RRNAERFLBHFASNREA RUETER BN —K
KIEZR, RIIWHBRRILZEEN B SER, AEAS, BREEMESERR, EH—E
IR, LA RCHIR B 3EERER . AEPESEERLSMBRZA, BiFHEA
AHIFEIE.

5 %
2009 ¥ 7 H



- ~- Passage m_ﬂw ........................ (49)
) ﬁ'—ﬁgﬁ; ﬂi‘i;‘ . Passage 'I‘liiify-six ........................ (50)
M mrty_m --------------------- (52)
Passage One c+eoreeressesessrsseisisniinne 1
nge M ................................. 22; w miﬂy.@t ........................ (53)
.............................. Passage Thirty-nine «:::ccocreeesesersees (55)
Passage Three 3)
Pmage FOUE ++veovesressessosnsnassnnonse (5) Pw Forty .............................. (56)
Passage Five «+eeoreseseresscesscssncssisninne (6) Passage Forty-ope coocooveseeoreesecosese (58)
................................ Passage Forty-two -cccocseeeeseeeseecee (59)
Passage Sk +----oo0+ S
................................. Passage Forty-three «:+s+esescsesseeceee (60)
Passage Seven (9)
.............................. Passage Forty-four «:ccocoeeceeeeeseeses (62)
Passage Eight (10)
nge Nine seecceeererrcercececcioneasecns (12) Pmage Fm‘ty-ﬂw ..................... (63)
Passage Tem wo-eereeresnsesnsssssensneens (13) Passage Forty-six -c:ceecccesceceeeeereneeess (64)
nge Eleven sccecceccosccncsorcianscovaces (15) nge FortY'um ..................... (66)
Passage TWelve «+-«+svverersessrssesssncnns (16) Passage Forty-eight «::ccccooococeeremereees (67)
nge Thirteen «+ccereressarccsncstacens (17) nge Forty-nim ....................... (68)
nge FOUTtR@R +++eeereeressrssarsanssass (18) nge mY .............................. (70)
nge Fifteen «coerrereerecccescccccrocnnane (20) Pwage I‘my-one ........................... (72)
Passage SIXtEEm <+o+ererssssssersasansasnanns (21) Passage FAfty-tw osveecseeesraneenceonceons (73)
Passage Seventeen  «-scsrerececssesesiiess (23) Passage Fifty-three c-occccccoreeeceeseeeses (75)
Passage Hightoen +<----rssrceerseees (o) | PaSage FIRY-four  woovssessssne (76)
Passage NIDEgeen -+-everessessessessassanes (26) Passage nny_ﬁve ........................... (78)
........................... Passage Fifty-six -ccoroocecerencsecsesees (79)
Passage Twenty 27)
nge Twmty.om ........................ (23) Pasage my-sevm .................... (80)
nge Twenty.two ........................ (30) nge my-aglt .................. (81)
PMC Twenty-three ..................... (31) Pasage mfty.nine ........................ (83)
Passage Twenty-four ..................... (33) nge Sixty .............................. (84)
Passage Twenty-ﬁve ........................ (34) Pw Sixty.one ........................... (85)
nge Twenty-six ........................ (36) Pﬁaﬁe Sixtz.two ....:.: .................. (87)
Passage Twenty-seven coccoocoeeceserereree (37) } g:fﬂ!ﬁ' ﬁﬂlﬂl‘;
Pasage Mty.eight ..................... (39) .
pmge Twenty-nine ..................... (40) nge OME erocrereeressieranistisnsssians (89)
Passage Thirty «:creeceeeeeroscrrreneceeene (42) Passage TTWQ "corerececenrenattiionssacenccnes (92)
nge ’lhirty_one ........................ (43) P&age 'I'hm .............................. (95)
nge 'mirty_two ........................ (45) Pw FOUr eceveresrecscsrasssccascsssone (9”)
Passage 'l‘hirty-three ..................... (46) Passage Five cecccerscascorrenscsccranccnns (1(x))
Passage Thirty-four «.cecoreeerreeressraeces (48) Passage Six c+eccovererecrroeneanrasioeninee (103)



Passage Seven «c-rveeerecrertaannensaeens (105)
Passage Eight ««:ccoececrerrrecraraiannee (109)
Passage Nine «cc-occeesenereecerannennnnee (112)
Passage Ten  cccoceocemreerereacsnscnccns ( 115)
Passage Eleven seecoceceererecerranceeseas ( 118)
Passage Twelve ccecrcoceresmrnancniinan. ( 121)
Passage Thirteen c«ecreoreereerescrereees (124)
nge Fourteen sccctecseeresrsoscancnce (126)
Passage Fifteen c-occoceerereeneeenanece (129)
Passage Sixteen ccceceerrererrieiiiniieens ( 131 )
Passage Sevenfeen ---eseosseresecessenes (134)
Passage Eighteen ........................ ( 137)
Passage Nineteen cocoeerreereerecrsrocens ( 140)
nge Twenty ........................... (142)
Passage 'rwenty_one ..................... ( 144)
Passage Twenty-two ..................... (1 46)
Passage Twenty-three «--* SRIIILRRIRIIIRE (148)
Passage Twenty-four ««:rereoerecreceens (151)
Passage Twenty-five «c:ocrosceceeeceseen (1 54)
Passage Twenty-six reesesersertestsesannnes 157)
Passage Twenty-seven oceoceceererces ( 160)
Passage Twenty-eight ..................... ( 163)
Passage Twenty-nine ..................... (165)
Passage Thirty «:cceecocereserecenenennnn (169)

Passage Thirty-one «--«--sceeteocerereeee (173)
Passage Thirty-two r««::esoreeecereceees (176)
Passage Thirty-three «::eoseeeereeererees (180)
Passage Thirty-four --<:c:eeeoreeeeseess (183)
Passage Thirty-five «««:csoreeeeeeceeceees (185)
Passage Thirty-six -o-e-esecereeessreccnes (188)
Passage Thirty-seven -«--c:eeseeeerecene (191)
Passage Thirty-eight -cccce-veooeeeeveee (193)
Passage Thirty-nine «::-«---sesevereees (197)
Passage Forty ««:ccooocrsernrarerraneuenne (200)
Passage Forty-one :-ccococeseeececasscnees (203)
Passage Forty-two «---:-ecoceeseesescenes (206)
Passage Forty-three ..................... (210)
Passage Forty-four «-:-ccoceereeeeresesions (213)
Passage Forty-ﬁve ........................ (215)
Passage Forty-six «-ceccoceoeresecessennes (218)
Passage Forty-seven «ecroteceeerecessnes (220)
Passage Forty-eight ..................... (223)
Passage Forty-nine «+:cccceeceeresecescecs (226)
Passage Fifty «-:occeoceecnrrrecemneeneaen (230)
Passage Fifty-one eeteererereessessnnes (234)
Passage Fifty-twg ««ccccoceovecencecrccens (237)
BEER i (240)



B4 W B

Passage One

After World War I there was a boom in the recording business, and by the 1970’ s the industry
had become an annual $ 2 billion giant. During the immediate postwar years, favorite performers
remained popular, but from the 1950’ s on, recordings—and constant repetition on the air—introduced
new type of popular music.

One of the most pervasive was rock and roll, whose first hero was Elvis Presley. He was followed
by the Beatles (from England) and Bob Dylan. Rock music developed into loud and dissonant “acid”
rock, associated with the drug culture of the 1960’ s and feaured at the Wood-stock festival of 1969. In
the 1970’ s, a more mellow form of rock emerged, which became a major element of the popular-music

scene.

Country and western music was arnother type to achieve tremendous popularity. An outgrowth of
folk music, country and westem, with its capital in Nashville, Tenn, featured such stars as the Carter
Family, Jimmie Rodgers, Hank Williams, Roy Clark, and the team of Homer and Jethro.

These types of new music had in common their appeal to youth. Popular music became a symbol
of the youth rebellion against the establishment, and for the first time it was written and performed by
the young for the young.

( ) 1. What is mainly discussed in the passage? -
A.' Prosperity in the recording business. B. Some popular performers.

C. New types of popular music. D. Popular music for the young.

( ) 2. Which of the following is mentioned as one of the most popular music in the passage?
A. folk music B. “acid” rock
C. rock and roll D. country and western music

( ) 3. What is connected with the so-called “drug culture” in the passage?
A. folk music B. mellow rock
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C. rock music D. country and westem music

( ) 4. What is the main feature of the popular music scene, according to the passage?

A. loudness B. dissonance
C. hoarseness D. mellowness

( ) 5. What is NOT true of the new types of music, according to the passage?
A. They came from the young. B. They symbolized the young.
C. They recorded the young. D. They appealed to the young.

Passage Two

The impact and the continuing reputation of James Fenimore Cooper was to be greater than
Trving’s, both at home and abroad. Cooper was not the first American novelist. The first American
novel was The Power of Sympathy (1789) by William Hill Brown (1765 ~ 1793), and form its
publication until the appearance of Copper’ s Spy (1821), many authors tried their hand at this
increasingly appealing form of literary expression. The Gothic novels of Charles Brockden Brown
(1771 ~ 1810) gained some recognition in England as well as in America. His Wieland (1798),
Arthur Mervyn (1799 ~ 1800), and Edgar Hunily (1799) were brave attempts at psychological
sensationalism and the use of American materials; but, written in haste, they show the awkwardness of
an unskilled hand and the lack of an immediate tradition. Modern Chivalry (1792 ~ 1815), by Hugh
Henry Brackenridge (1748 ~ 1816), is a novel of greater quality than any by Brown. A picaresque
account of American backwoods life, the book is held together not so much by plot as by the author’s
inherent plea for the elevation of the practice of democracy.

Cooper himself was also to become a loyal critic of the ways of democracy, helping to establish the
freedom of self-criticism that has become so characteristic of American writers and so continuing a
source of surprise to readers abroad who do not understand a parent’s proud desire to improve a child
or, contrariwise, the child’s desire to improve its parents. The views that Cooper advanced in The
American Democrat (1838),a series of expositions written from a conservative viewpoint protesting the
rule of the mob were fictionally echoed in such books as the Monikins (1835), Homeward Bound
(1838) ,and Home as Found (1838). Yet it was with such materials as he employed in The Spy, a
novel of the American Revolution, and in The Pilot (1823), which made him an early master of the
sea story, that he began the lasting reputation that his Leather-Stocking Tales ensured for him.

In The Pioncers (1823), The Last of the Mohicans (1826), The Prairie (1827), The
Pathfinder (1840), and The Deerslayer (1841), he established in the figure of Natty Bumppo a
literary hero who possessed the virtues of a man both at ease with and in command of nature. Leather-



K-y N &k 3

Stocking and his exploits became krown in every European country, and he came to represent the
Natural Man who opposes -anything that is “agin nature” or “agin reason”. The figure of Leather-
Stocking, in the rich landscape of the forests where he hunted, pmvxdedforgenemhonsdEuropeans
what the French called the “matter of America” .
( ) 1. What is the main topic discussed in the passage?

A. Brave attempts at the use of American materials.

B. Some pioneers in American literature.

C. The contemporaries of James Fenimore Cooper.

D. An American writer, James Fenimore Cooper.
( ) 2. Which of the following novels is mentioned as the first American novel in the passage?

A. The Spy. B. Wieland.
C. The Power of Sympathy. D. Modern Chivalry.
( ) 3. Which of the following novels made Cooper an early master of the sea story?
A. The Pioneers. B. The Pilot.
C. The Last of the Mohicans. D. The Pathfinder.
( ) 4. Which of the following writers made efforts in applying psychological sensationalism in his
novel?
A. Washington Irving. B. James Fenimore Cooper.
C. Charles Brockden Brown. D. Hugh Henry Brackenridge.

( ) 5. Which of the following is NOT true of Cooper’ s works?
A. The Spy was considered the best work of Cooper.
B. Leather Stocking Tales described the “matter of America” .
C. American Democrat was written from a conservative viewpoint.
D. The Pilot ensured Copper the lasting reputation.

Passage Three

For a decade after 1783 Indian hostility discouraged immigration. A small settlement at Marietta,
in what later became Ohio, and a few scattered along the river as far south as Cincinnati marked the
beginning of white occupation. After two disastrous attempts had been made to quell the Indians,
troops under Gen. Anthony Wayne decisively defeated them at Fallen Timbers near the rapids of the
Maumee in 1794, and the next year the Treaty of Greenville brought peace to most of what became
Ohio. By 1800 the rush of people to the Middle West was beginning in eamest. Thereafter the spread
and direction of settlement is roughly charted in the dates of admission of the states: Ohio entered the
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Union in the dates of admission of the states: Ohio entered the Union in 1803; Indiana in 1816;
Illinois, 18183 Missouri, 1821; Michigan, 1837; lowa, 1846; Wisconsin, 1848; Minnesota, 1858;
Kansas, 1861; Nebraska, 1867; North Dakota and South Dakota, 1889.

In 1796 Congress, in revising the Land Law of 1785, raised the minimum price an acre to
$2.00. Four years later it reduced to 320" acres the minimum amount that could be purchased and
allowed four years to complete payment. In 1800 the Northwest Territory had a population of 51,000
compared with about 2,600,000 each in the northeastem states and the South. By 1840 the population
of these two sections had doubled; that of the Middle West had increased almost 60-fold to 3,300,
000. By 1870 population of all three sections was roughly equal—a condition that would continue for
many decades.

Unlike the region south of the Ohio River, which drew settlers largely from the older southern
states, the Ohio Valley was attractive to immigrants both from the older states and from Europe.
Germans, Irish, Scandinavians, and others joined the push into the region, contributing to the
heterogeneity of the population.

With relatively little waste land in the region, productive farms soon blanketed the area. With
growing markets in the South, the East, and Europe, the great problem was to find ways to reach these
markets with the farm produce. Bulky commodities such as com and wheat could be marketed locally
or down river as grain or flour. Com could also be sent to market as pork, beef, or whiskey. In the
first decade of the 19th century, farmers in the Scioto Valley fattened cattle on com and drove them
across the mountains to eastern markets, thus initiating a business that would continue until railroads
made such long drives unprofitable. Hogs were sometimes driven but more often were slaughtered
locally and the meat processed and barrelled for river shipment.

( ) 1. What is probably a best title for the passage?
A. The Submission of the Indians. B. The Cessation of the West.
C. The Conquest of the Union. D. The Expansion of the Union.
( ) 2. What indicated the beginning of the white occupation of the Indian regions?
A. The rush of people to the Middle West.
B. The battle at the Fallen Timbers.
C. The settlement in Ohio.
D. The attempts to quell the Indians.
( ) 3. What was the population of the South in 1840, éccording to the passage?

A. 3,300,000 B. 2,600,000
C. 102,000 D. 5,200,000
() 4. Where had the settlers in the south of the Ohio River mostly come from?
A. The older southemn states B. European immigrants
C. Germans D. Scandinavians

( ) 5. What can be inferred from the last paragraph of the passage?
A. Diversity characterized the economy.
B. It was unprofitable at the beginning of a business.
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C. Transportation hindered the development of trade.
D. Processing technique prevented the growth of a business.

Passage Four

Political disaster befell the Republicans in the trans-Mississippi West, resulting from an economic
and psychological depression that enveloped the region after widespread crop failures and the collapse of
inflated land prices in the summer of 1887. The Westem boom had begun in the late 1870s, when the
tide of migration into the unoccupied farmlands beyond the Mississippi quickly led to the settlement of
hitherto unoccupied parts of Iowa and Minnesota and to the pushing of the frontier westward across the
plains almost literally to the shadows of the Rocky Mountains.

Westward expansion was encouraged by the railroads that served the region. It was supported by
the satisfactory price and encouraging foreign market for wheat, the money crop of the plains. For ten
years, from 1877 through 1886, the farmers on the plains had the benefit of an sbnormal generous
rainfall, leading many to assume that climatic conditions had changed and that the rain belt had moved
westward to provide adequate rainfall for the plains. Confidence was followed by unrestrained optimism
that engendered wild speculation and a rise in land prices. Lured on by these illusions, the settlers
went into debt to make improvements on their farms while small-town leaders dreamed of prodigious
growth and authorized bond issues to construct the public improvements they felt certain would soon be
needed.

The collapse of these dreams came in 1887. The year opened ominously when the plains were
swept by a catastrophic blizzard in January that killed thousands of head of cattle and virtually
destroyed the cattle industry of the open range. The following summer was dry and hot; crops were
poor; and, to compound the woes of the farmers, the price of wheat began to slide downward. The dry
summer of 1887 was the beginning of a ten-year cycle of little rainfall and searingly hot summers. By
the autumn of 1887 the exodus from the plains had begun; five years later, areas of western Kansas
and Nebraska that had once been thriving agricultural centers were almost depopulated. The
agricultural regions east of the plains were less directly affected, though there the farmers suffered from
the general decline in farm prices.

( ) 1. What is mainly discussed in the passage?
A. The joy and sorrow of the inhabitants in the West.
B. The hardship in West Expansion.
C. The fluctuation of economy in the West.
D. The challenge in West Expansion.
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() 2. What marked the beginning of the boom in the West, according to the passage?
A. The settlers pushed the frontier to the Rocky Mountains.
B. The settlers in the West cultivated unoccupied farmland.
C. Migrants flooded into and settled in the West.
D. The colonies of Iowa and Minnesota took an active part in the pushing Westward.

( ) 3. Which of the following is NOT mentioned as a factor to encourage the Westward Expansion?
A. The regional railroad. B. The good price.
C. An adequate rainfall. D. The foreign market.

( ) 4. What is implied about the weather in the West, according to the passage?
A. The West had a favourable weather for crop.
B. The rain belt moved to the West.
C. The West had an irregular weather.
D. The weather remained stable for good.

( ) 5. What was true of the areas of western Kansas and Nebraska, according to the passage?
A. They became thriving and prosperous center by the autumn of 1887.
B. They survived from the disaster.
C. They began to decline in econonty.
D. They were lessened in their inhabitants.

Passage Five

Variation is as fundamental to the life sciences as regularity is to the physical sciences. The
genetic material, deoxyribonucleic acid (DNA), can provide a common basis for temestrial life forms
just because it can exist in a virtually infinite number of chemical species that are determined by the
particular sequence of nucleotides within the larger molecule. This chemical variety, together with the
ability of DNA to duplicate itself, gives the molecular foundation for the dual phenomena of variation
‘and conservative transmission which underlie the evolutionary process.

However, knowledge of the fascinating complexities of molecular pathways from the inherited
genetic material to its ultimate expression in the developed organism is not crucial to an understanding
of the concept of heritability, just as Gregor Mendel’ s complete ignorance of the chemical or even
cytological basis of inheritance was not an impediment to his discovery of the laws which this
inheritance obeys. Nevertheless, some common features of the mechanism of inheritance need to be
surveyed and the essential principles identified. I shall restrict the discussion of these principles to the
case most often encountered in sexually reproducing animals and plants.
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In such cases the genes, the units of heredity, are organized in pairs having their material basis

in the pairs of chromosomes which make up the complement of the nucleus of each cell in the body of
the organism. For example, the 46 chromosomes of the human karyotype represent 22 pairs of
homologous chromosomes along with the special case of the sex determining pair. There are very many
genes located on the chromosomes, perhaps 100,000 in man. Any particular gene may be thought of as
residing at a particular locus on the chromosome. The genes found at a particular locus are not
necessarily identical for different individuals or even for the different members of the pair of homologous
chromosomes; between one third and one half of the genetic loci show such genetic variation, or
polymorphism, in man. The altemative forms of a gene at a particular locus are called alleles.

(

) L.

) 2.

) 3.

) 4.

) 5.

What is essential to the physical sciences, according to the passage?

A. variation B. regularity

C. duplication " D. evolution

What can control the chemical species, according to the passage?

A. Deoxyribonucleic acid. B. Larger molecules. :
C. Chemical variables. D. Particular sequence of nucleotides.

What may be understood as the basis of the evolutionary process?

A. The chemical species.

B. The variation and conservative transmission .

C. The molecular structure.

D. The ability of DNA to duplicate itself.

What is true of Gregor Mendel, according to the passage?

A. He was erudite in chemistry and in cytology, so he discovered the law of inheritance.

B. He discovered the law of inheirtance on the basis of chemistry.

C. He did not have much knowledge of chemistry and cytology, but he discovered the law
of inheritance.

D. He made further study of cytology and discovered the law of inheritance.

Which of the following is used by the author to explain the inheritance in the passage?

A. Sexually reproducing animals. B. Chromosomes.

C. The units of heredity. D. The complement of the nucleus.

Passage Six

Nitrogenase thus represents a delicate complex system that helps maintain the nitrogen cycle and
ensures a steady supply of nitrogen to various ecosystems, including those of agriculture, forest,
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grassland, etc. As was pointed out in the introduction, fixation of N2 accounts for nearly two-thirds of
the nitrogen input into the world’ s soils. Since most of the fertile soils are today exploited for the
production of food, fibre or wood, it is obvious that diazotrophy is fundamental to man’s economy.
Human greed and ignorance is causing irreparable damage to ecosystems which can then no longer
sustain the survival of organisms (including diazothrphs) . The situation is becoming more alarming as
excessive amounts of nitrogenous fertilizers, pesticides, insecticides and fungicides are being applied
regularly in modern agriculture without considering their adverse impact on the environment. This
results in the reduction diazotrophy and of intensification of pollution. There is a large gap between the
production and consumption of nitrogenous fertilizers in the developing countries compared with the
developed world. This gap is rapidly widening and there are added constraints on the technological
development of fertilizer industries related to lack of good road, mail or port facilities, inadequate power
supplies, non-availability of raw materials, poor storage, improper distribution and extension services

and in some cases inefficient managerial or maintenance skills.

These problems could be overcome if biological nitrogen fixation could be improved to an extent
that would reduce the input of nitrogenous fertilizers in agriculture. The areas, in which there could be
improvement in N2 fixation, are identified as the isolation and development of strains of diazotrophs
showing: (i) no H2 evolution, as 25% energy is wasted in this process; (ii) tolerance to mineral
nitrogen, especially ammonium ions as fertilizers, which tends to inhibit nitrogenase activity; (iii)
tolerance to high levels of available aluminium and manganese, such as are found in acid soils and
(iv) tolerance to seed applied pesticides, which inevitably come into contact with both seed applied
Rhizobium inocula and diazotrophs growing in the rhizosphere. In addition, there are prospects of
extending symbiotic associations of Rhizobium to non-leguminous crops, particularly cereals, as well as
the possibility of conferring diazotrophy on other micro-organisms growing in the soil by tissue culture
(especially protoplast fusion) and genetic engineering.

( ) 1. What is mainly discussed in the passage?
A. The irreparable damage to the survival of organisms in ecosystem.
B. The pollution of nitrogen in soil.
C. The production and consumption of fertilizers.
D. The balance of micro-organism in agriculture.
( ) 2. Which of the following is mentioned as a role of nitrogenase in ecosystems?
A. To activate the supply of nitrogen. B. To retain the nitrogen cycles.

C. To fertilize poor soil. D. To ensure the production of food.
( ) 3. What is served as the cause of iremediable damage to ecosystem, according to the
passage?

A. Human greed and ignorance.
B. Excessive amounts of nitrogenous fertilizers.
C. Adverse impact of nitrogenous pesticides.
D. Regular spread of insecticides and fungicides.
( ) 4. Which of the following tends to restrain nitrogenase activity?



£—ko M & 9

A. No H2 evolution.

B. Tolerance to seed applied pesticides.

C. Tolerance to mineral nitrogen.

D. Tolerance to high levels of available aluminum and manganese.
( ) 5. What is mentioned as the solution to the problems in the passage?

A. To improve biological nitrogen fixation in agriculture.

B. To reduce the input of nitrogenous fertilizers in agriculture.

C. To isolate the strain of diazotroph.

D. To get rid of nearly two-thirds of nitrogen in soil.

Passage Seven

The energy in fuels such as coal, gas, and oil is chemical energy. Chemical energy comes from
the bonds which hold the atoms together. Radioactive fuels contain nuclear energy. This energy comes
from the force that holds the nucleus together. The bonds that hold the nucleus together are stronger
than the bonds that hold atoms together. Therefore, radioactive materials contains much more energy
than substances such as coal. However, even our uranium supplies will not last forever. Scientists are
now trying to control thermonuclear energy. This is the energy that makes the sun and other stars
shine. Thermonuclear energy could be obtained from hydrogen. Water is a compound of hydrogen and
oxygen and there are huge amounts of water on the earth. Hydrogen could be extracted from this water
and this would give us a virtually unlimited supply of energy. But there are many difficult technical
problems to be solved first. Another possibility is not to use a fuel for energy at all. The sun gives off
large amounts of energy as heat and light. This energy is called solar energy. It is possible to convert
solar energy into electrical energy. So far, this has only been done on a very small scale. Geothermal
energy flows from the hot interior of the earth to the surface. In a few places, pipes buried at great
depths bring superheated steam to the surface to drive turbines to generate electricity. Near Reykjavik,
Iceland, hot water from geothermal wells is used to heat buildings. Tidal power is another possibility.
But again, there are many difficulties to be overcome first.

( ) 1. What is the main topic of the passage? '

A. Kinds of Energy. B. Chemical Energy.

C. Themonuclear Energy. D. Geothermal Energy.
( ) 2. Which of the following contains more energy?

A. ol B. atoms

C. nuclear materials D. coal
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( ) 3. According to the passage, where does thermonuclear energy most probably come from?

A. The sun. B. Stars.
C. Oxygen. D. Hydrogen.
() 4. Which of the following energy is NOT mentioned in the passage?
A. Fossil energy. B. Thermonuclear energy.
C. Geothermal energy. D. Solar energy.
( ) 5. According to the passage, solar energy is converted into electricity
A. on a large scale B. on a small scale
C. only in advanced countries D. many places in the world

Passage Eight

Generally speaking, Progressivism was the response of various groups to problems raised by the
rapid industrilization and urbanization that followed the Civil War. These problems included the spread
of slums and poverty; the exploitation of labour; the breakdown of democratic government in the cities
and states caused by the emergence of political organizations, or machines, allied with business
interests; and a rapid movement toward financial and industrial concentration. Many Americans feared
that their historic traditions of responsible democratic government and free economic opportunity for all
were being destroyed by gigantic combinations of economic and political power.

Actually there was not, either in the 1890s or later, any one Progressive movement. There were
numerous movements for reform and reconstruction on the local, state, and national levels that were too
diverse, and sometimes too mutuslly antagonistic, ever to coalesce into a national crusade. But they
were generally motivated by common assumptions and goals—e. g., the repudiation of individualism
and laissez-faire, concem for the underprivileged and downtrodden, the restoration of govemment to
the rank and file, and the enlargement of governmental power in order to bring industry and finance
under a measure of popular control.

The origins of Progressives were as complex and are as difficult to describe as the movement
itself. In the vanguard were various agrarian crusades, such as the Grangers and the Populists and
Democrats under Bryan, with their demands for stringent railroad regulation and national control of
banks and the money supply. At the same time a nmew generation of economists, sociologists, and
political scientists was undermining the philosophical foundations of the laissez-faire state and
constructing a new ideology to justify democratic collectivism; and a new school of social workers was
establishing settlement houses and going into the slums to discover the extent of human degradation.
Allied with them was a growing body of ministers, priests, and rabbis—proponents of what was called
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the Social Gospel—who struggled to arouse the social concems and consciences of their parishioners.
Finally, joumalists called “muckrakers” probed into all the dark comers of American life and carried

their message of reform through mass-circulation newspapers and magazines.

(

) 1.

) 2.

) 3.

) 4.

) 5.

What is mainly discussed in the passage?
A. Some social problems after the Civil War.
B. Some diverse movements: in America.
C. A reformation in society after the Civil War.
D. A convergence of social forces against social evils after the Civil War.
Which of the following is NOT mentioned as one of the problems raised by the rapid
industrialization and urbanization?
A. The spread of slums and poverty.
B. The exploitation of labour.
C. The breakdown of democratic government.
D. The emergence of political organization allied with business interest.
Which of the following is the fear shared by many Americans after the Civil War according
to the passage?
A. The combination of economic and political power.
B. The tendency of financial and industrial concertation.
C. No equal economic opportunities for all.
D. The destruction of the traditions of responsible democratic government.
Why does the author mention the Grargers and the Populists and Democrats under Bryan in
the passage?
A. To give examples of numerous organizations.
B. To show the popularity of the progressivism.
C. To suggest the importance of progressivism.
D. To indicated some of the persistent organizations.
Which of the following can be considered as the aim of the Social Gospel?
A. To uncover the social evil.
B. To free the inhabitants from sinfulness.
C. To wake up the people.
D. To discover the extent of human degradation.



